350 x 350x 12x 19

2280 x 10° mm’

y = 776 x 10° mm®

(350 - 2x 19 )x 12 = 3744.0 mm’

X

380.570 KkN/m

o= 1.500 m
A= 1.500 m
a = 15
X
o = A _ 380.570 1.500 - 500.993 KN
cosa cos 15
h = 0 cosa = 590.993 x cosl15 = 570.855 kN
vV = 0 sina = 590.993 x sinl5 = 152.960 kN
51 .250 350 50
hl= 257
h2= 301
25 I V4
165 175
| 71.
15
600 435 107 | 600
h3= 100
i 71.
r 175
25 L




<j RA

246.5

353.5

RB

1.500

380.570 x 0.3535

224.219 KkN/m

0.600

A2 224.219 x  1.500 2
8

A 224219 x 1.500

2

63.062 kN m

168.164 kN

L

600



ob

380.570 x 0.2465

43.974 kN m

117.263 kN

o ba 210  N/mm?

" O.K 1]

Ta= 120 N/mm?

B = = 156.351 kN/m
0.600
8 B A2 _ 156.351 x 1.500 2
8 8
8 B A _ 156.351 x 1.500 B
2 2
A 63.062 x 106
= X = 28 N/mm?
X 2280 x 103
A 168.164 x 103
08.164 x 10 = 45  N/mm?
w 3744.0

" O.K (1]



AH

AH

AH

BH

BH

BH

JAN
0/2 0/2
0.750 = 0.750
0= 1.500
_ h _ 570.855 x 0.3535
0.600
_ AH o _ 336.329 x 1.500
4 4
_AH o _ 336.329 x 1.500
2 2
_ h b _ 570.855 x 0.2465
0.600
_ BH o _ 234.526 x 1.500
4 4
_ BH 0 _ 234.526 x 1.500
2 2

336.329 KkN/m

126.123 kN m

252.247 kN

234.526 KkN/m

87.947 kN m

175.895 kN



ob

ob

BV = v = 152.960 kN/m
X
BV BV o _ 152.960 1.500 - 57.380 KN m
4 4
AH 126.123 x 10°¢
J126.128% 107 _ oo \/m oba = 210 N/mm’
X 2280 x 103
mn O-K "
AH 252.247 x 103
= > x 10 = 67  N/mm’ Ta= 120 N/mm?
w 3744.0
mn O-K mn
BH BV  87.947 x 10° 57.360 x 106
X y 2280 x 103 776 x 103
= 112 N/mm? oba = 210 N/mm’
mn O-K "
BH 175. 103
= 5.895 x 10 = 47 N/mm? Ta= 120 N/mm?
w 3744.0

" O.K 1]



0.600

= 2
2 1 R 2
- 2 19 x 0 X < - 573806
6 6
= 1 = 19 x 257 x 2 = 9766.0 mm’
= 3 = 19 x 100 x 2 = 3800.0 mm’
0 = 590.993 kN
h = 570.855 kN
v = 152.960 kN
] A
Ph < b = 165
\ a = 435 L =
r <
| 5
570.855 0.435 0.165
- * X = 68.289 KN m
0.600
_ 570.855 x 0.435 _ 413.870 KN

mm3

600



ob

68.289 x 10°6

573806

413.870 x 103

\'

9766.0

152.960 x 10°3

3800.0

119

42

40

N/mm?

N/mm?

N/mm?

o ba

210  N/mm?

" O.K 1]

120 N/mm?

" O.K 1]

120 N/mm?

" O.K (1]



100

100x 10

19.000 x 10% mm’
24.40 x 10° mm®
3.04 x 10 mm

v = 152.960 kN
= 152.960 kN
500
362
, 189

350

650

700




. 152,960 _

= 76.48 kN
2
AN AN
/2 /2
= 0.0945 = 0.0945
= 0.189
" 76.4 A
- - _ 76480 x 0.189 _ o4 kN
4 4
6
ab = _ 3614 ¥ 10° s Gba = 210 N/mm
24.40 x 103
mn O-K "
b 76.4
= —_— Zﬂ = 88.311 kN
sind sin 60
k = 704.0 mm
k 704.0
= = 23.158 18 lk/ y 92
30.40
o ca = {140-0.82x (Ik/ y-18)}x 1.5 = 204 N/
3
gc = o 88.811 x 107 _ 46 N/mm? oca = 204 N/mm?
19.000 x 1072

" O.K 1]



0.7
Ta= 120 N/mm?
80%

Q
1

0.7STa
152.960 x 103

= 569.0 mm
0.7 x 4.0 x 120 x 0.8

— 570  (mm)



